=A% (L)

B ILAT = A O A MR
( ‘ ( .
sin(—6@)= —siné Sm(% 0>:c050 tanf— sin 6
_ cosf
cos(—0)=cosl T
tan(—6)= —tan 6 COS(; 0>=Sin0 sin®0 + cos"0 = 1 ) = costo
tan’0 +1=
: . tan<£ 0>: L an-o+ COS 0
sin(@ +x)= —sin @ L 2 tanéd -
cos(f +m)=—cosé TN e B
t — (. T ( . ) .
an(0+rm)=tand Sin <0 —l—?) =Cos 0 sin(a+ fB) =sinacosB + cosasinf
RED BRI
sin(z—6)=sin @ C“%0+%>:*‘“n0 . .
sin(a¢ —fB) =sinacosB —cosasinf
cos(mr—0)=—cosd tan(o+ =) = 1
tan(z—0)=—tand | an< * 2>__tan0
cos(a+fB) =cosacosB —sinasinfB
RO K&
cos(a—fB)=cosacosB + sinasin 3
BIEAROREE F
( tana +tanp
) tan(a+4p) =
@ sin@, cosf DRTE [@+p) l—tanatanp

% 725 sin@ — cos@, cosf — sinf

T 725 sinf@ — sin @,

@ OO opiE

=%nk%2f\%@&%@%%%oﬁéo

cosf — cosb

X tanf X tanf= (s:1n0

A H

$ll) sin(0 + )

D rx 72D Tsinf — sinb

@ sin <%7r+7r> = Sln%ﬂ' DL O
Lo T
sin(f +x)= @smﬁ

12 cos<0 +%>

DL 70T cosd — sinb

2
@ cos <£ +£> = cosiyr QYUEE e @
3 2 6
Lo T

cos<0+ > Osind

ATF<AFTARE BT ) BT TAHE

tana —tang

t
\ an(@—p) = l+tanatanp
%A l
( R
sin2a = 2sin a coS«
A
cos2a = cos’a — sin’a -
2% — l—cosa
—1—2sin’a 2 2
=2cos’a—1 ——x o l+cosa
2 2
\
tan2a = Ztanczr
l—tan‘a
\_ J
tan?% l1—cosa
2 14 cosa

3 %A

sin3a =3sina — 4sin’a

P A UBIWTHEADFIZ LAD
cos3a =4cos*a —3cosa

BWF DI A2 T 21X 5 fE

& Rk B

r

asin@ + bcosd

=+ a*+b%sin(0 +a)




